
Pivot Tube Assemblies w/ Footplates - Adjustable Angle
Footplates - AT5543

(Before 9/12/03)



Pivot Tube Assemblies w/ Footplates - Adjustable Angle
Footplates - AT5543

(Before 9/12/03)
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1060426-NLA NLA - Footplate, Adjustable Angle, Medium, Black

(4-1/4" W x 8" L)
1 11

1060427-NLA NLA - Footplate, Adjustable Angle, Large, Black
(5-1/4" W x 8" L)

1 11
1062569-NLA NLA - Footplate, Adjustable Angle, Extra Large,

Black (6-1/4" W x 8" L)
1 11

1029545 Screw, Socket Flat Head (1/4-20 x 3/4") 1 22 A
1048816 Screw, Nylon Adjustment (1/2-13 x 7/8") 1 13
1052102 Hinge, Footplate - Right 1 14
1052103 Hinge, Footplate - Left 1 14

1120384-NLA NLA - Tube, Pivot/Slide, Straight - Alum. (9-7/8" L) 1 15
1120385 Tube, Pivot/Slide, Straight - Black (11-7/8" L) 1 15

1091745-NLA NLA - Tube, Pivot/Slide, Straight, Steel, Chrome
(13-7/8" L)

1 15
7930321-NLA NLA Package, Screw, Socket Button Head (1/4-20 x

1-7/8")
25 16

1026900 Washer (1/4 x 23/32 x 1/16") 1 17
7930313 Package, Washer, Nylon (5/16 x 7/8 x 1/8") 25 18
7930333 Locknut (1/4-20) 25 19
1026907 Washer (1/4 x 1/2 x 1/16") 1 110
1025457 Spacer, Coved (1/4 x 3/4 x 11/32") 1 111
1082686 Nut, Barrel, Hex Head (1/4-20 x 11/16") 1 212 A
1058517 Clamp, Footplate 1 113 A

See Chart #14 - Adjustable Angle Footplates with Pivot Tube 1 114
A - Items 2, 12 and 13 must be ordered together for chairs manufactured before 8/10/99 due to a hardware change. NOTE:

 
#14 - Adjustable Angle Footplates with Pivot Tube

60°, 70° Non-Tapered and Elevating Legrest
Chair Width & Footplate Right Left

Straight Slide Tube (9-7/8")Straight Slide Tube (9-7/8") 
1060433106043214"-15" (5-1/4" Footplate)
1062573106257216"-20" Wide (6-1/4" Footplate)

ALPT Straight Slide Tube
(11-7/8")(Alum.)

ALPT Straight Slide Tube
(11-7/8")(Alum.) 

10604411060440-NLA14"-15" Wide (5-1/4" Footplate)
1062579106257816"-20" Wide (6-1/4" Footplate)

ALPT Straight Slide Tube
(11-7/8")(Steel)

ALPT Straight Slide Tube
(11-7/8")(Steel) 

1062759106275814"-15" Wide (5-1/4" Footplate)
1062761106276016"-20" Wide (6-1/4" Footplate)


